
 

 

STARŠÍ 
trestné sekundy: 10 sec. = 1 bod 

   Pořadí  
STARŠÍ-POŘADÍ-16 

   

 

Pokus 1 Pokus 2 Lepší 
 

Výsledný 
  

 
Družstvo SDH Pokus body sec. Pokus body sec. čas 

  
čas 

  

 
1 Bořitov A 

  
27 84 1 10 

 
29 11 

  
0 : 29 , 11 22 

 
1 Drnovice A 

 
0 : 16 , 95 

  

 
2 Bořitov B 

  
27 56 

   
35 32 

  
0 : 27 , 56 20 

 
2 Senetářov G 

 
0 : 17 , 55 

  

 
3 Březina  

  
17 97 

   
18 86 

  
0 : 17 , 97 3 

 
3 Březina  

 
0 : 17 , 97 

  

 
4 Černá Hora 

  
35 00 1 10 

 
37 50 2 20 0 : 45 , 00 26 

 
4 Senetářov A 

 
0 : 18 , 72 

  

 
5 Drnovice A 

  
19 84 1 10 

 
16 95 

  
0 : 16 , 95 1 

 
5 Senetářov C 

 
0 : 19 , 20 

  

 
6 Drnovice B 

  
21 89 1 10 

 
19 54 

  
0 : 19 , 54 6 

 
6 Drnovice B 

 
0 : 19 , 54 

  

 
7 Drnovice C 

  
24 17 

   
25 49 

  
0 : 24 , 17 16 

 
7 Senetářov E 

 
0 : 20 , 34 

  

 
8 Drnovice D 

  
23 12 

   
21 50 1 10 0 : 23 , 12 12 

 
8 Šošůvka 

 
0 : 20 , 57 

  

 
9 Jabloňany A 

  
29 33 

   
25 80 

  
0 : 25 , 80 19 

 
9 Lysice A 

 
0 : 21 , 58 

  

 
10 Jabloňany B 

  
27 95 1 10 

 
28 67 

  
0 : 28 , 67 21 

 
10 Sychotín A 

 
0 : 22 , 27 

  

 
11 Ludíkov A 

 
1 45 19 2 20 1 19 51 4 40 1 : 59 , 51 28 

 
11 Velké Opatovice 

 
0 : 23 , 04 

  

 
12 Ludíkov B 

  
51 13 2 20 

 
53 10 

  
0 : 53 , 10 27 

 
12 Drnovice D 

 
0 : 23 , 12 

  

 
13 Lysice A 

  
21 58 

   
25 23 

  
0 : 21 , 58 9 

 
13 Těchov B 

 
0 : 23 , 55 

  

 
14 Lysice B 

  
33 15 

   
25 81 1 10 0 : 33 , 15 23 

 
14 Sychotín B 

 
0 : 23 , 76 

  

 
15 Olešná 

  
29 66 1 10 

 
42 18 1 10 0 : 39 , 66 25 

 
15 Těchov A 

 
0 : 23 , 81 

  

 
16 Sloup 

  
34 09 

   
35 39 

  
0 : 34 , 09 24 

 
16 Drnovice C 

 
0 : 24 , 17 

  

 
17 Senetářov A 

  
19 76 

   
18 72 

  
0 : 18 , 72 4 

 
17 Újezd u K. A 

 
0 : 24 , 47 

  

 
18 Těchov A 

  
23 81 

   
24 55 

  
0 : 23 , 81 15 

 
18 Újezd u K. B 

 
0 : 25 , 53 

  

 
19 Senetářov C 

  
19 62 

   
19 20 

  
0 : 19 , 20 5 

 
19 Jabloňany A 

 
0 : 25 , 80 

  

 
20 Senetářov E 

  
20 34 

   
22 45 1 10 0 : 20 , 34 7 

 
20 Bořitov B 

 
0 : 27 , 56 

  

 
21 Sychotín A 

  
21 70 1 10 

 
22 27 

  
0 : 22 , 27 10 

 
21 Jabloňany B 

 
0 : 28 , 67 

  

 
22 Sychotín B 

  
26 74 

   
23 76 

  
0 : 23 , 76 14 

 
22 Bořitov A 

 
0 : 29 , 11 

  

 
23 Šošůvka 

  
20 57 

   
23 78 1 10 0 : 20 , 57 8 

 
23 Lysice B 

 
0 : 33 , 15 

  

 
24 Senetářov G 

  
19 22 

   
17 55 

  
0 : 17 , 55 2 

 
24 Sloup 

 
0 : 34 , 09 

  



 
25 Těchov B 

  
24 60 

   
23 55 

  
0 : 23 , 55 13 

 
25 Olešná 

 
0 : 39 , 66 

  

 
26 Újezd u K. A 

  
22 59 1 10 

 
24 47 

  
0 : 24 , 47 17 

 
26 Černá Hora 

 
0 : 45 , 00 

  

 
27 Újezd u K. B 

  
25 53 

   
27 50 

  
0 : 25 , 53 18 

 
27 Ludíkov B 

 
0 : 53 , 10 

  

 
28 Velké Opatovice 

  
25 80 

   
23 04 

  
0 : 23 , 04 11 

 
28 Ludíkov A 

 
1 : 59 , 51 

  

 
29 

             
: 

 
, 

   
29 

   
: 

 
, 

    


